20244 OLOISSXI3AAY M - ME0ak(e)

1. H&RX
(cto: @
Al 2 Al &
o= 20244 20244 =2 — =2 20244 20244 52 .
(&) 1xF FHol£HA) | 3x F=HoLHB) (B-A) (B-A) 1xF FHLHA) | 3R F=HLH(B) (B-A)
Ao 5 5,966,043 5,888,951 |- 77,092 9% M = = 5,966,043 5,888,951 77,092 99%
2x349 4,136,002 4,136,002 - 100% 2| 214,765 214,765 0 100%
JEE] 508,469 508,469 - 100% NET 3,921,327 3,921,327 0 100%
RS 1,315,382 1,239,291 |- 76,002 94% RS 1,316,382 1,242,751 73,632 94%
z29l 6, 100 5,100 |- 1,000 84% 2 - - - 0%
olHIb % OIE 209,305 206, 145 3,160 98%
e 304,263 303,963 300 100%
2. ® 2 OHI OlarHIm
1) Mgl
> oolseeYy LA
- Ot 80l SO2 Q8 0I8XIRES 24
> EY 2L
- 18 019 298 AR BrE ENES AL
2) ME
ST IEIE2=RETEN
- OIBXIRY34Y UAR QIF OH0ISEEELY 24
> ofHbl 2 JIE A
- 243 B 2a
P BETTE 24
- 23 RS 0014+ S20I2 6l REH DIF32Z2 A% JHEXE 24




20244 OLOISSXIRAAMY ME - HE SZE(Q)

(29:88)

= 20244 20244 o s
. - XA | 0% 23wyt | BHEW | s - S = 1y 2 | an e | FEER %(8/A)

5,066,043 | 5,888,951 |- 77,002 99% HE &2 5,966,043 5,888,951 77,002 99%
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